Question 1.
State which of the following are equations with a
variable. In case of an equation with a variable,
identify the variable.

)17+x=5

i)2b—-3=7

i) (y — ) 8

V) 3

(i
(
(
(
(V)7x3-19=2
(
(
(
(i

Vi) 5 x4 -8=31
Vi) 2p <15
vm) =11x5-12x4
X7 =5
Solution:
() 17+ x=5lsan equation—> LHS =RHS —
Related variable x.
(i) 2b =3 =7Isanequation—> LHS =RHS —
Related variable b.
(iii) (y=7) >5
Is not an equation = L.H.S. # R.H.S.
It has no sign of equality (=).
()5 =3
Is an equation = L.H.S. =R.H.S.
It has no variable.
(V)7x3-19=2
Is an numerical equation = L.H.S. = RH.S. It has ho
variable.
(Vi) 5x4-8=231
Is an equation = L.H.S. = R.H.S. = Related variable t.
(Vi) 2p <15
Is hot an equation=L.H.S. #RH.S.



It has no sign of equality.

(Vii) 7=11x5-12x%x4

|s an numerical equation = L.H.S. = R.H.S. It has no
variable.

(i) 54="5

|s an equation = L.H.S. = R.H.S. = Related variable q.

Question 2.
Solve each of the following equations :

Solution:

()x+6=8
=X=8-6=>x=2
(i)2-x=5
=—X=95-2=2>-Xx=3=2>x=-3

(V)2y -3=2
=2y=2+3:>2y=5:>y=3
(vi)4 —5y=2
=4-2=0y=>0%y=2
:>y:§



Question 3.

Solve the following linear equations:
(i) 5(x+ 1) =25

(iN2(3x = 1) =10

(i) 5 = 11
Solution:
(i) Givin 5(x + 1) = 25
S+1) _ 25 .
5 5 (dividing both sides by 5)
=>x+1=95

= x+1-1=5-1(Subtracting 1 from both sides)
=>x=4

(i) 2(3x = 1) = 10

2(3z—1)\ __ 10
=>( 2 ) 2 (dividing both sides by 2)
=3x—-1=95
= 3x—1+1=5+1 (adding 1 to both sides)
= 3X=06
=5 = g(dividing both sides by 3)

=>X=2

(il Given 1+ = 11

=4 x Zh=4x11 (multiplying both sides by 4)
= 3x - 1 =44

= 3x—1+1=44+1 (adding 1 to both sides)
= 3x =45

ST =7 (dividing both sides by 3)

=>x=15



Question 4.
Solve the following linear equations:

() S5x-6=12-x  (ii) §+l=4-n

5 2
(iii) 5p+T7=19-2p (iv) 2x+5=3—x

W) 3-5=53-4 (i) |a-3—4’-=n+y

3

Solution:

()5x-6=12-x

= Oox+Xx=12+6
br=18=z=2 =3
Verification
5X-6=12-x=>53)-6=12-3
= 15-6=9=>9=9

i ﬁ+l—4
(u)3 =4-n

n+3 4-n
3 I

=>3(@-n)=1(+3)
=12-3n=n+3
=2>-3Nn—-nN=3-12=>-4n=-9

-9 _ 9
=>N="2"1
Verification
: 9
- L4
:3‘+|=4—N$i+|=4—:
2xl+| = —-——16_9 3 +1
w s § Ty rem



(i) 5p+ 7= 19 - 2p

=op+2p=19-7=7p=12

_ 12
>b=7

Verification

Sp+7=19-2p = 5(1-72-)+7=|9-z(

= 9 7a19-2 _,
7
109 _109
il I

5 . 2
(V2xt+t3=3-2

4x+5 _ 2—-3zx
2 - 3

= 3(4x + 5) = 2(2 - 3x)
= 12x+15=4 - 6X
= 12x+6x=4-15
= 18x=-11 :>x=_1_§31
Verification
2x+2=—-x
2

3

60+49 133-24

=22 5_2. 11
=18 2 31
22445 _12+11
= 18
23_23
= 18 18

7 ;

12

7

)



= 3(x—-10)=2(x - 12)
=>3x-30=2x—-24
=>3X—2x=-24+30=>Xx=06
Verification

= 3-53=2-4-2=-2
(vi) 18—3%=|l+y

72—3)*=“+y

=

= 72-3y=44 + 4y  (cross multiplication)
= 3y-4y=44-72 = -Ty=-28

=.-_2.8.—4
— W 7
Verification
3y
18 ~ 4 =11 +y
3x4
= 18 - =11 +4
4
= I18-3=15

U
I



Question 5.
Solve the following equations and verify your

answers:

()3(x+7)=18

(i) 2(x=1)=x+2

i3z —3=2(x—3)+5
(iV)4(2x - 1) -2(x—-5)=5(x+1)+3

Solution:

() 3(x+7)=18

=>3x+21=18
=3x=18-213x=-33x=73

= X=-1

Verification
=>3x+7)=18=>3(-1+7)=18=3(6)=18
= 18=18

(i2x=1)=x+2
=>2X—2=x+2
=2X—x=2+2
=>x=4
Verification
=>2(x—-1)=x+2
=>2(4-1)=4+2
=20B)=6=>6=6

=‘22x )
2

ul-—

(iii) 3x -~




9.t-l=4.7c-2+5 -
3 2 3

= 20Ox—-1)=3(4x—-2+10)

= 18x — 2 =3(4x + 8)

= 18X —2=12x+24

= 18x - 12x=24+2

:6x=26=>x:26_6:13_3:4

Verification

- 3x-%-2(x--;—)+5
13) 1 13 1
—_—|—== === +5
- J(3) 3 3 2)

=2

W=

3 3

3823415 38 38
3 3 —~ 3 3

9x -1 4x-2+10

2



(iv)4(2x = 1)-2(x — 5) =5(x+ 1) + 3
8= o = x4 1D =X Fotd

= 8X—2x—4+170=5x+5+3

=2 0OX—9X=8-6=2Xx=2=2>Xx=2
Verification

4(2x = 1)-2(x =5 =5(x+1)+3

= 4(2x2-1)-2(2-5=52+1)+3
=>4(4-1)-2(-3)=5(3) + 3
=>4x3+6=15+3

=12+6=18

= 18=18



